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Topic:- General Knowledge

1) ISRO recently tested the indigenously developed Cryogenic Upper Stage (CUS) for the use of

which one of the following rockets? /Wﬁﬁﬁﬁﬁﬁﬁ@ﬁﬁﬁﬁh@%
IUART & fore wWeRh ¥ A el e Sudl wu @figea) s1udteor fFar g2

1. GSLV Mk-III
2. PSLV C38
3. INSAT-2E

4. IRS-1C

Correct Answer :-

« GSLV Mk-III

2) World Literacy Day is celebrated every year on which date? / u?[aa? a4 fay TreRar feaw
¥ feaie ot w=mar ST 82

1. 5t April 5/ 30

2. 8 September / 8 IRIGLSKS
3. 24™ June / 24 97

4. 20" August / 20 ST

Correct Answer :-

« 8t September / 8 R

3) Where are the famous Dilwara Temples situated at? / m ﬁ?ﬁ'l@ﬂ 'Fl'ﬁ? ﬁT @R‘T %'?

1. Maharashtra / IlERTg
2. Madhya Pradesh / H&J Uaxl



3. Karnataka / ®lcdh
4. Rajasthan / XTSTRJTT

Correct Answer :-

 Rajasthan / [STRJTq

4) How many medals did India win at US Open Karate Championship 2017? / 2017 QU 3N

FRIC AT & HRA A fFaq ues Sfia?
1.8
2.12
3.20

4. 16

Correct Answer :-

« 16

5) Which of the following is the highest gallantry award in India? /A FT I URT o

Hard dRd REPR 32

1. Shaurya Chakra / RINECED

2. Maha Vir Chakra / Il?l_qa?' deh
3. Kirti Chakra / ®ifdi aob

4. Param Vir Chakra / TR dR dsh

Correct Answer :-

« Param Vir Chakra / 3" 9 Tsh

6) Which one of the following cities has India's first vertical garden? / fada e Udh AgR |
YRA BT UGl SHeafeR ST 32

1. Bangalore / STAR
2. Hyderabad / %3?@3
3. Kochi / ST

4. Mumbai / &S



Correct Answer :-

« Bangalore / STAR

7) Which one of the following Indian personalities is to host Hindi version of international show

"TED Talks"? / 9 & @ S & To WRdIg afaaqa o SiaRTEHa 20 "TED Talks" & &
PR B} AT FAT 32

1. Naseeruddin Shah / '_'lmq QTe
2. Amitabh Bachchan / 3{HATH S
3. Amir Khan / 3{TER &

4. Shah Rukh Khan / RITg>d W[+

Correct Answer :-

« Shah Rukh Khan / RlTe>¥ W+

8) Which one of the following south Indian languages is considered to be the oldest? /

fFrafafEa aféor yrdia urarsi & @ 19 Wt T Ta wrh= yTen 9 St 32
1. Konkani / i Uit

2. Tamil / T8

3. Telugu / AL

4, Malayalam / HeTUTCH

Correct Answer :-

« Tamil / A

9) Which one of the following sites is not located in Delhi? / ﬁ'ﬂﬁl@ﬁ A DA Vd, ﬁﬁ
A Ry 18 82

1. Rajpath / XTSTTY

2. Buland Darwaza / §ciG GRaTGll

3. Qutub Minar / SIEHIMR

4. Red Fort / AT fopa

Correct Answer :-



« Buland Darwaza / §¢iG GGl

10) The Mudumalai National Park is located in which one of the following states? / gg'n?ni

gt S Fu A A fru o T A Ra B2
1. Odisha / 3SR

2. Karnataka / 1c®

3. Rajasthan / XTSI

4. Tamil Nadu/ama:ll§

Correct Answer :-

e Tamil Nadu / alila'_‘||§

11) Who is the first Indian Army officer to be promoted to the five star rank of field marshal? /

Wics AR & Uig RIART ¥ d Ugiad o3 a1 Ugd UIRAH A1 & SIS B4 §2
1. Rajendrasinhji Jadeja / ol Rigsl STaol

2. Arjan Singh / 35 Rig

3. K M Cariappa / & TH SR

4. Sam Manekshaw / SH HTOIGRIT

Correct Answer :-

« Sam Manekshaw / ﬁﬂ IIT@WT

12) Who is the newly appointed spokesperson of India's Ministry of External Affairs? / HIRd &

fac=r daaTera & 19 g yaad w19 82
1. Deepak Mittal / diue ford
2. Mridu Pawan Das / §{g Ud- alq

3. Vikas Swarup / faeg WEy
4. Gopal Baglay / T SRTA

Correct Answer :-

» Gopal Baglay / PSR



13) Who recently launched the mobile app named “Selfie with Daughter”? / §Td 81 § fo

Tt fag STex” AT HiaTsd TU @l-d B 82
1. Raj Nath Singh / oY g
2. Narendra Modi / '_'Q_S{ ﬁ'cﬁ

3. Pranab Mukherjee / YUId H“@\_rﬁ
4. Hamid Ansari/ fﬂﬂ_ﬁ" 3R

Correct Answer :-

 Pranab Mukherjee / YUId H’@Gﬁ

14) Who was the winner of the Australian Open Super Series badminton tournament in 2017? /

2017 § ST 3u= guR AR dsfiies gatve &1 fasar #i9 ur
1. Srikanth Kidambi / Siebid fbdet

2. Nanda Gopal / EERIPIG]

3. Sai Praneeth / ﬂ'l_sc quft

4. Pullella Gopichand / ﬂﬁfﬂ UINIE

Correct Answer :-

« Srikanth Kidambi / fipid fhcal

15) Who held the office of the Vice President of India for two consecutive terms? / HIRd &

SWIPUTT Ug W AR &l 3rafy 9 H19 51 332
1. Shankar Dayal Sharma / X[ GITe TrAf

2. Rajendra Prasad / ISl UG

3. Zail Singh / 91d Rig

4. S. Radhakrishnan / . X[UTHTF

Correct Answer :-

« S. Radhakrishnan / U{. JTUTH [T

16) Who built the Khajuraho temples? / T9RTe! HfeR} T fAwTUr fFam wearar

1. Nandas / &l



2. The Mauryas / g
3. The Chandellas / aﬁﬁ
4. The Kanvas / hTdl

Correct Answer :-

o The Chandellas / ﬂ%ﬁ

Topic:- General Hindi

1) «FaR B! Giord fib? Hfd TREMT TR 1” A $I4 A1 3EHR 32
1. SfIRRAHT SiHR

2. TV SABR

3. 3IUNT (PR

4. Yo AAPR

Correct Answer :-

. Y ABR

2) “YUITH B GG B! Ped o |
1, TIRBR

2. YUY
3. THA

4. YUITH

Correct Answer :-

3) “faermera ® wyga AfY &1 AW Iagl
1. TR Y

2. 41 TfY

3. ol Y



4. 3{Tie Y

Correct Answer :-

. A g

5) «qART” | B AT U g 22
1. 3RT

2.
3. W

4. 31

Correct Answer :-

Ry

6) TFPT DT dTT & |

1. Ydl
2. bl
3. U
4. Udl

Correct Answer :-



7) HTGdTA 1 91 B I 32
1. g § a1 el T

2. §H IS

3. g alSd g

4. 30 4 BIs g1

Correct Answer :-

. g T greT T8 T

8) «3TE fIPTa I W1, &1 U IS HR M AT I H B AT 32
1. ARG

2. YO I

3. 3GHA T

4. UG T

Correct Answer :-

. AHI T

9) Ig I WGl THH YT A gl |
1. faefe
2. T
3.7
4. G

Correct Answer :-




4.9,4,49

Correct Answer :-

« P,

Correct Answer :-

- T

13) 390 | S 1 Y Jue arga 82
1. I DA ?

2. PRI SN Bl 2

3. 1Y 81 ST 2

4. 9 ol SR 1

Correct Answer :-

. U TRl SIS 1



14) “¥X BT Ul GPT ¢ Hgrad o1 A4 8 |
1. IR &1 N fodt &1 A1 g ara|

2. IR &1 Wl depl fTRTT|

3. R P NG Y dDhT BT AT

4. 3T He A g |

Correct Answer :-

. U He A gTMA|

Topic:- General English

1) Choose appropriate articles for the given sentence:

As ___ resultof ___ meeting and subsequent frank talk, they were able to part as friends.
1. a, the

2. the, a

3.a3,a

4, an, the

Correct Answer :-

e 3, the

2) Choose the appropriate prepositions for the given sentence:

There was an overpowering smell ____ chlorine_____ the indoor pool.
1. through, across

2. of, in

3. with, from

4. in, through

Correct Answer :-



Choose the option that correctly sequences the following phrases:

. they manage to continue
. although

. are divorced

. Janet's parents

. as good friends

U B WN =

1. 23451
2. 54312
3.12435

4. 24315

Correct Answer :-
e 24315

4) Choose the correct form of phrasal verb for the given sentence:

How is Mohan ______in his new job? Is he enjoying it?
1. going on

2. getting on

3. carrying on

4, living on

Correct Answer :-

* getting on

5) Choose the correct form of linker for the given sentence:

He never returned to his constituency _______ he won the elections.
1. unless

2. when

3. because

4, after

Correct Answer :-

o after



6) Choose the most suitable determiner for the given sentence:

Do you want glass of milk?

1. many
2. another
3. more

4, each

Correct Answer :-

¢ another

7) Choose the correct sentence from the sentences given below:
1. The man to whom | was speaking is the manager of mine.

2. The man to who | was speaking is the manager.

3. The man is the manager to whom | was speaking.

4. The man whom | was speaking to is the manager.

Correct Answer :-
e The man whom | was speaking to is the manager.

8) Choose the right tag:

Itwon'train, ____ ?
1. isit

2.isn't it

3. won't it

4. will it

Correct Answer :-

o will it

9) Complete the sentence choosing the right option:



You can achieve better results
1. unless you work hard.

2. lest you should work hard.
3. if you work hard.

4. if you do not work hard.

Correct Answer :-

 if you work hard.

10) Complete the sentence choosing the right form of Prefix:

Please remain seated until we announce when you can plane.
1. de
2.un
3. dis

4. em

Correct Answer :-

e de

11) Choose the correct form of tense for the given sentence

Don't get that ink stain on your shirt, for it even after washing
1. isn't leaving

2. won't leave

3. won't be left

4, hasn't left

Correct Answer :-
e won't leave

12) Choose the word that is opposite in meaning to the word highlighted in the following sentence:

He spoke affably to the reporters.
1. rudely

2. politely



3. hastily

4. inaudibly

Correct Answer :-

e rudely

13) Choose the word that is closest in meaning to the word highlighted in the following sentence:

The youngsters will pit their skills for a week against the European mega football club FC Barcelona.
1. hide

2. falter

3. play off

4. tolerate

Correct Answer :-

« play off

14) Spot the error in the given sentence:

It is the dream of every mountaineers to climb the world's highest peak.
1. to climb

2. of every mountaineers

3. Itis the dream

4. the world's highest peak.

Correct Answer :-
« of every mountaineers

Topic:- General Mathematics

1 i N T —7 L . Y ]

) Thevalueof 'K in 72+ 73= Y70 is / 72 = 3= {710 ¥ “x" &I AT @ -
1.3

2.9

3.7



4.5

Correct Answer :-

2)

Ifthe curved surface area of a right circular cylinder of height 8cm is 96w cm?, then its radius is

| afg 8 FHAT 3 U &F g Joied T doh TSI &TAhe 96nTHE g, af ST
B &

1. 3cm/ 3 T

2. 4cm / 4 QY

3.2cm /2 I

4. 6cm / 6 T

Correct Answer :-

. 6cm/6@1:ﬁ

3)
Day : Mon | Tue | Wed | Thu | Fri | Sat | Sun
Rainfall{in
mm) 3.1 535 | D2 253 | 2E2 | 49 | 24
The above table gives the rainfall (in mm) in a citv on 7 davs of a certain week. The range of the
above datais [/
feet - 9F | Al | g | 9% | ek | ofe | Xfd
qur (et 7) - 31 39 02 255 | 212 49 24
Waﬁwwﬁﬁaﬁma?ﬁ#%m&mﬁ@wwm (fas
) & 81 3uea ST T W § -
1.22.9
2.20.5

3.25.1



4,21

Correct Answer :-

« 25.1

4) One of the factors of the expression x* + V2x-24is /| a1 2 ++2x-24 & HIU'IFI'EET H
TUud f-

(x-2)
1.
(x-3v2)
2.
(x-242)
3.

Xt \."E
4, ( )

Correct Answer :-

(x-3v2)

5)  In a parallelogram ABCD if £A=§/_B=then £C=] U FAKR =Ig#=1 ABCD #,3fg A
=§¢B B darzc=

1. 800
2. 950
3. 1000
4,759

Correct Answer :-

. 800



Simplify [(D) ) + & | e X : (D + 4

)"

(e
4

Correct Answer :-

7) In an election, a candidate got 75% of the total valid votes, 12% of the total votes were
declared invalid. If the total number of votes is 800000, then the number of valid votes polled in
favour of the candidate is ./ ¥h g-dld ﬁ, U G'I:mm G| Pd Y el BT 75% UTd
foran, Ta dtel a1 12% ray N¥a far man| afe el #) $a T=am 800000 B, f SWHgaR
& g o ot Qe ) e 3|

1. 710000
2. 528000
3. 676000
4. 540000

Correct Answer :-

e 528000

8) Jaya took a loan of 25,000 rupees at the rate of 10% from a bank and bought a second-hand
scooter. After two years she cleared her loan. How much money she would have paid in all? /

ST A TP 9F A 10% P &2 | 25,000 FUY ST HUT forar Ud U IuanT faar g3 Wpex
WRIGT | ) ATd 916, 39 391 B g&1 a1 39 g fova=m Ywrar fosar grm?

1. Rs.30,000 / 30,000 =0



2. Rs.35,000 / 35,000 ==0d
3. Rs.5,000 / 5,000 30
4. Rs.25500 / 25,500 04

Correct Answer :-

« Rs.30,000 / 30,000 =T

9) 'x'is 15% of 'y' and 'y' is 12% of 'z'. If x = 945, then 'z' =/ “y” BT 15% “x” %HQIT “z” DI

12% “y” 81 g x =945 §, @ «2” =
1. 39860
2. 48600
3. 46430
4. 52500

Correct Answer :-

« 52500

10) A number is as much greater than 22 as it is less than 70. The number is ./ GPh
HEAT 22 | ora= SifR §, 70 | I 81 FH 7| 95 HE& gl

1. 66
2. 54
3.24

4. 46

Correct Answer :-

11) The outer and the inner diameters of a hollow cylindrical pipe of length 35¢cm are 12cm and
10cm respectively. The volume of the metal used in making the pipe is ./ 35 9t ?ng
e TP TWRAS deFTPR UTSY & a1g3t Ud W) =ars swaer: 12 99 3R 10 9 &1 urgy
T | Wgad YT BT S gl

1. 1845cm3 / 1845 THP



2. 1430cm3 / 143 9413
3. 1625cm> / 1625 9H3
4.1210cm>/ 1210 9H3

Correct Answer :-

« 1210cm3 /1210 991

12) The arithmetic mean of 12, 2,2 32, 42, and 5%is .112,2,2 32 42 Wd 52 T JHIAR
314231 gl

1. 11
2. 10
3.5

4. 10.5

Correct Answer :-

13) What must be added to 9x> - 30x + 22 to make it a whole square? / U 'l]:Uf CUKCIEE:g ﬁl’[{
9x2 - 30x + 22 ¥ fHa=T SeAT Sawa® g2

1.3
2.6
3.2

4. 14

Correct Answer :-

e 3

14) Ganesh and Bhima can complete a work in 6 days. If Ganesh alone can finish it in 10 days,
in how many days Bhima can complete the work? / TTIRT Td WHr 6 ﬁ:ﬁ T Udh W'II{T Xy
Thd g1 afe oI srhdl 8 10 feY & 39 $TH &) GHIW B JHhdl ©, d 39 STH I Hiar
fpaa fat & T R qpar 32

1. 18



2. 14
3.12
4. 15

Correct Answer :-

« 15

Topic:- General Logical Ability

1) A gets Rs. 33 when a sum of money was distributed among A, B, and C in the ratio of 3:2:5.
What will be the sum of money? / AP 33 Fﬁlﬁ,\_ﬂ_@'@'mﬁTA, B, AMRCH3:2:5%
3quTd # faafika &1 7181 & Y=R1R1 = ghfte

1. 111
2. 110
3. 121
4. 99

Correct Answer :-

« 110

2) A shirt costs Rs. 350. If the cost is increased by 10%, then the new cost will be: / T aﬂﬁ\_tl

P @1 350 3= 8 | TFE AN 10% d g7 <t 5, o) 18 & ghft:
1. Rs. 365 /365 &
2.Rs. 385 /385 &
3.Rs. 370 /370 =

4.Rs.360/360 =

Correct Answer :-
e Rs.385/385%

3) Find the distance covered by a train moving at a speed of 90 kmph in 10 mins. / 90 fodt ufa

HUS B AT IR ATAT B X1 IS gIRT 10 fite & ag 3t 715 gt A1

1.15m/15 3



2.900 m / 900 H
3. 900 km / 900 T HT
4,15 km / 15 Tt

Correct Answer :-

« 15km/ 15 fodil

4) 42 is what percent of 210? / 42, 210 BT fa ufa=ra %?
1. 20%

2. 15%

3.22%

4. 25%

Correct Answer :-

e 20%

5) Kamlesh remembers that his brother Suraj's birthday falls after 29" October, but before 5t
November, while Sheetal remembers that Suraj's birthday falls before 315 October, but after

20" October. On which date does Suraj's birthday fall? / HUAY B 1S § 5 3T ’J-I'I'Q;W
BT THIE 29 TEER b d16, T 5 IR U Ugd ATdl §, TaiP Had 1 a1g & 16 It o1
ﬁn TR A UGH, U 20 FgaR P qIG 3ATdT 2 | 3o b1 Sl fobs famiias a1

1. 29t October / 29 3fAgER

2. 30™ October / 30 AR

3. None of the above / dq{idd AR |
4. 315 October / 31 3ageR

Correct Answer :-

« 30™ October / 30 3{FEER

6) Which letter should be 7th to the right of the 12th letter from left, if first half of the alphabet

series is reversed?/qﬁﬂ&ﬁmmmmmﬁ %mm%a‘r‘qﬁﬁ 12%"ar&r¢%?



R | 791 3R B IT AT TIRY?
1.V
2.T
3.P

4. S

Correct Answer :-

S

7) Which one of the following four addresses is NOT EXACTLY the same as the one given

below? / F14 f&0 T IR vl & A FI9 91 T 1 33 T ud & UheH JHH 51 82

Sp. Z o.0. Janki,
ul. Falencka 1B,
05-090 Raszyn,
Poland

i. Sp. Z o.0. Janki,
ul. Falencka 1B,
05-090 Raszyn,
Poland

ii. Sp. Z o.0. Janki,
ul. Falencka 1B,
05-090 Razzyn,
Poland

iii. Sp. Z o.0. JanKki,
ul. Falencka 1B,
05-090 Raszyn,
Poland

iv. Sp. Z o.0. Janki,
ul. Falencka 1B,
05-090 Raszyn,
Poland

1. 1ii

2. 1v



3.1
4.1

Correct Answer :-
e 11

8) If PARTICLE is coded RCTVKENG, then how is SCIENCE coded? / qﬁ' PARTICLE &t

RCTVKENG | ®f&d forar oIt 8, 9t SCIENCE & &9 Difsd fbar S
1. TBJUOMF

2. TDJFODF

3. UEKGPEG

4. QBSUDMF

Correct Answer :-

- UEKGPEG

9) The series given below contains a sequence of numbers. Identify the incorrect combination. /
= €t 7% o A v HH H G-I IufRid 7| Ted SaielE ugn-e|

5,6,7,8,10,11, 13,15, 19

1. 19

2.7

3.15

4. 13

Correct Answer :-

« 13

10) The average age of the 27 girls in a class is 13. The teacher is 41 years old. What is the

average age including the teacher? / U D&l H 27 Flsﬁﬂﬁ 31 3 S 13 %I SeATUDT Bt
AT 41 94 B | SATIDT I FArars fia Sy T ghft?

1.27
2. 14

3.20



4.34

Correct Answer :-

. 14

11) Tap A fills a tank in five hours, Tap B fills the same tank in fifteen hours, and Tap C empties
the tank in ten hours. When all the three taps are opened together, the tank will be filled up

within: / Td A, TP 2P B! UTd gUS] A YT €, T B I 3P P! UEE UUe] A HRAT ¢, 3R
94 ¢, I} &P B ¢ guel A Wrell HdT 8 | 59 d1F) &b U A1y WA SId €, ) 8 ga
el § YR SR

1. 10 hr/ 10 90

2.6hr/6 g0

3.3 hr/3 YU

4.5hr/5 90

Correct Answer :-

« 6hr/6 TUC

12) Evaluate 555 x 444. / 555 x 444 &1 U fA@1iQ]
1. 246520

2. 244620

3. 264420

4. 246420

Correct Answer :-

e 246420

13) In a certain code language, dra sonc fert means win my heart; brip seda sonc means famous
heart surgeon. Which is the word for heart in that code language? / 3t @™ B HTET ﬁ, dra

sonc fert dT HAAd % win my heart; brip seda sonc ®T Hddd % famous heart surgeon| 39 CAE
UTHT & heart & foTT DI A1 25 82

1. sonc

2. fert



3. brip

4. dra

Correct Answer :-

14) A number is such that the product of its digit is 12. When 36 is added to the number, the
digits get reversed. What is the number? / b T 39 YPRR % % 3T 3iwl BT MorA®d 12
2| ST T=T H 36 SITST ST §, o 3 SIehiid 8l oiTd € | | 1 872

1. 34
2.43
3.62

4.26

Correct Answer :-

Topic:- General Science

1) Identify the organism which ingests food without the mouth? / 3 EiCKal q?ﬂTﬁ'Q, EICEI
TG & Ui oI FrTeran 82

1. Amoeba only / 4 sreftar

2. Cow only / s g

3. Both star fish and amoeba / ARTHIT 3R 3iaT ST
4. Starfish only / Rt armE

Correct Answer :-

« Amoeba only / s aftar

2) Leaves are reduced to spines in deserts. This adaptation helps desert plants

./ ufxrai IR o Pt a1 oAl 8 | 98 e A SR | Ul 3
o PRaT B

1. to increase rate of photosynthesis / UhIRI BESMUEI LD EIE'Ie[ =l




2. to increase the size of the plant / I & SMHR DI g™ Hl
3. to protect from the predators / RYE § saH A
4. to reduce water loss / T @1 HH! &I HH B H|

Correct Answer :-

o to reduce water loss /Uﬁﬂ’ﬁﬂﬁﬂﬁﬁl

3) Cottony white or greenish thread like substance found on old bread is due to attack by which

of the following organism? /WW% (a:";) TR UTIT ST 9Tt SuTe %?rmgh‘cr T
T yerd, e Sftal & 9§ f5ad gRT50d & SR Ea1 82

1. Virus only / dhad ﬁ'qTUl

2. Fungi only / PHad Hab

3. Bacteria only / dad \_rﬁaTUI

4. Both bacteria and virus / GﬂaTUl 3R ﬁw Gl

Correct Answer :-
« Fungi only / $ad HddH
4) Which is the INCORRECT statement given below?

Mercury is used in thermometers because JAR %q Iy HYF A T B 9T Tead % I
URe, Y A sua fraremarg, ®ifee |

1. it does not expand on heating / g Tlff H R IR Tsﬁ Eﬁ?ﬂ

2. it does not stick to the sides of the glass tube / g g AfrdT P fHARI TR H%ﬂ%mw %

3. it is easily visible as it is a shiny metal / g ST I ﬁ@]ﬁ Gl | % it Yo dHH QR UIg %
4, it expands easily with rise in temperature / g dYHI | Q’@ & Y AT T YR @Tﬂ %

Correct Answer :-

« it does not expand on heating / g T % R yaid el giar

5) Which of the following is NOT an adaptation found in the animal mentioned? Fradd P
T ST STHaR | U 91 aTel g el 8?2

1. Red-eyed frog stick pads on feet/ ¢l 3} aTd Hed & W R few U




2. Toucan sharp, long beak / Eaﬁ Gl ﬂﬁ'ﬁ?ﬁ, GEICIE!
3. Monkey’s long tail / S &1 el &
4. Monkey’s sharp claw / G & W LS|

Correct Answer :-

» Monkey’s sharp claw / S[ebd & W uol

6) The passive movement of substances from a region of high concentration to a region of lower

concentration is called ./ 3 W a7 833[ ﬁ ﬁl’H W % 833[ 'el Wﬁﬂ'ﬂ
fferg nfe wgard 8 |

1. displacement / faeyo
2. dialysis / 3TAg"

3. diffusion / faERT

4. osmosis / YT

Correct Answer :-

. diffusion / fagRoT

7) A special kind of carbohydrate which can only be digested by ruminants is ./ GPh

T {5 P PreleEse, Sl dad AHRAGN gRT Ui fear s gedar g, 2l

1. sucrose /W
2. glucose /‘@_\,ﬂ
3. fructose / Thara ol

4. cellulose /@ﬂ?ﬁq

Correct Answer :-

« cellulose /@ﬂ?ﬁﬂ

8) The season in which frogs reproduce is ./dg HaH forgw Hed ysi=a #d %,
gl

1. autumn / UdlS

2. summer / YTSH




3. winter / 2fd
4. monsoon / HI{A

Correct Answer :-

« monsoon / HIY

9) The best time for weeding is ./ ﬁlTFi: @%TI') » ﬁI'Q 9 33T I9Y @?IT %
I

1. before the weeds produce flowers and seeds / YUl & gy QH CIS] G_CCITEH CRCE:| tl%@[

2. when the weeds have produced flowers and seeds / SId YTUId EEC[Q‘q’ ot T Sdlqd hX ad %
3. when the weeds have multiplied to the maximum / SId YTHUTd Wﬁ?{%
4, as soon as weeds begin to appear / oy B g gurd lé@lé o @

Correct Answer :-

+ before the weeds produce flowers and seeds / UTHUTd & q9 Ud dIS IdTfed B 4 ugd

10) Tin cans, used for storing food, are made by electroplating tin onto iron because

./ Wi ¥fed S & e wgea g1 e e & fesai sl ale R
fe & fagaq-<u= gRT o= ST 7, i

1. it makes the vessel lighter / qﬁrﬁmmﬁ%%m
2. it makes the vessel cheap /Wﬁﬁ@qﬁ%ml

3. tin gives a shiny appearance /%WWW?{H{%I
4. tin is less reactive than iron /?ﬁ%ﬁwﬁﬁqm Gﬁmmél

Correct Answer :-

« tinis less reactive than iron /@%ﬁﬁﬁﬁqﬂ ffiforariia el g |

11) To produce electricity on a small scale, electric generators use /BRIWAWR

faguq dTSdET w1 & fog, fagaqamver . STSua SRarg!
1. diesel / ST

2. fuel oil / S A

3. petrol / USIdl



4. kerosene / ﬁl@of B dd

Correct Answer :-

. diesel / SO

12) The part of ship that always remains under water . / STgTSl o1 98 fe=n

ST R U & A Igar g, |
1. does not rust because it is salt water / ST qﬁw %, Fifds o @WRT Eﬁ?ﬂ % |
2. does not rust because it is cold water / ST -Tg] b sdl %, Fifd Maora Eﬁ?ﬂ % I

3. rusts faster because it is salt water / SI7T ol Uhsdl %, RN o @RI Eﬁ?ﬂ % |
4. rusts faster because it is cold water / ST cIoll & b odl %, i Ldod Eﬁ?ﬂ % I

Correct Answer :-

« rusts faster because it is salt water / ST clofl 9 Uhodl %, i o @RI Eﬁ?ﬂ % |

13) When the amplitude of vibration is large, sound produced is ./ oTd DY BT
3T ST B1aT 3, df @&fy Iaure, BT |

1. loud / Udcl

2. feeble / &T0T

3. shrill / TH&TT

4. no relation between amplitude and sound / 3{TITH 3R wﬁr%aﬂaaﬁs‘wmﬁ

Correct Answer :-

e loud/YUdd

14) A piece of transparent material which has one or two spherical surfaces is called

/ TP q1 3 MATHR gl arar UReRif ugrd &1 U® ghel CELSIGI
1.mirror/3d:UT
2. concave mirror / Sddd E'EfUT

3. convex mirror / 34 E"CTUT
4. lens / @ﬁr

Correct Answer :-



« lens /9

Topic:- General Computer

1) WAN stands for: / S&IUTA $T IUf =1 §:

1. Wireless Area Network / GIBRGE 1Q'R"EIT Scdd
2. Wap Area Network / g WW

3. Wide Area Network / dISS Qﬁtﬂ Jcdd

4. Wide Array Net / 313_6'@%

Correct Answer :-
e Wide Area Network / dISS QI?EII ELGED

2) To convert a hyperlink e-mail address to regular text, right-click the e-mail address and then click

______on the shortcut menu./wmﬁﬁ@ﬂﬁmmﬁmmﬁ%%@%
TSH RIS fFad s iR f adweAgwR  feRae o3|

1. Edit Hyperlink / Tf&C BTSURfeieh

2. Select Hyperlink / Jaide gRWId®
3. Convert Hyperlink / FHac RECRNED
4. Remove Hyperlink / ﬂ_ﬂﬁ RECNNED

Correct Answer :-

e Remove Hyperlink / ﬂ_&a’ EENKEa

3) An area of a computer that temporarily holds data waiting to be processed is ./ PRYCR

198 &7 o f ufsraifad 811 & U gauik &2 32 S1eT 3 SRl T U A 7@ g,
FEAAI g

1. File / Tgd

2. CPU / GiUlg.

3. Storage / TR
4. Memory / THRY

Correct Answer :-

e Memory / R



4) CD-ROM stands for: /wﬂéﬁwm q:Uqu %:

1. Compactable Disk Read One Memory/ﬁwmﬁgmw
2. Compactable Read Only Memory /ﬁﬁﬂ%ﬂﬁﬂg ST AR

3. Compact Disk Read Only Memory /ﬁﬁ?%@ﬁg Gmw

4. Compact Data Read Only Memory/ﬁﬁﬂf@aﬂg STl AR

Correct Answer :-

e Compact Disk Read Only Memory /Hﬁﬁﬂf%@ﬁg 3fTTel AR

5) What does Ctrl +Shift ++ key effect? / Ctrl +Shift ++ @1 T Foil oM A fF W= YHTT Ugar 82
1. Uppercase / RHY
2. Superscript / WE

3. Subscript / BEIRE2Y
4. Lowercase / AI3R®Y

Correct Answer :-

» Superscript / W

6) What is the default font used in MS-Word 2007 document? / THTH T8 2007 Siegdc ¥ fv fEwiee
Wi T TANT fomaT STaT 32

1. Calibri / BTeTsT

2. Arial / TRT

3. Preeti / Widt

4, Times New Roman / CIgH Q{Lﬁ'q:f

Correct Answer :-

« Calibri / Pfers

7) The cell reference for a range of cells that starts in cell B1 and goes over to column G1 and down to

row 10 is ./ AT D TP 31 & foTT a8 A YB— oft 9 Bl H Y= §IH HIAH G1 qH
STt a4 AR ?0 (dfe) 10 96 S 21

1. B1;G10



2. GI-G10

3. B1.G10

4. B1:G10

Correct Answer :-

« B1:G10
8) The quickest way to create a MS-PowerPoint presentation is to use the ./ THIY-
Ulav@rse UoleM §91 ST Had a9 il BT THIATA PRAT |

1. Word for windows templates / ﬁ:‘ﬁﬁf étqﬁ’c' 35 1%‘]? aé
2. Auto content wizard / 3{Tcl dec fAviTs

3. Auto creation wizard / 3fTel fa?Q'-‘{F‘l ﬁ\—rﬂé

4. Presentation wizard / USICRM ﬁ\_lﬂé

Correct Answer :-

« Auto content wizard / 3ifcl dcc ﬁﬁﬂ?f

9) What is the easiest way to place same graphic in same place in all slides? /a W'IEE.'T ﬁ@ g’f R

W AT R I PT I ST ARIHT T 82

1. Place graphic in Slide Master / TIlgS HIXCX | Ifthh T

2. Place graphic in Notes Master / :hw HRER | A1fheh I

3. Place graphic manually in all slide / e &l gyt s o ﬁﬂ\’rﬁﬁ RECEIN

4. Place graphic in Handout Master / 88 3{T3¢ HReR H Wb G|

Correct Answer :-
« Place graphic in Slide Master / T3S HREX H AT G|

10) Which of the following is NOT an option in the spelling dialog box? / =1 A 4 o9 O1 faeey
R SraanT sted & T gran 82

1. Edit/ Tf&e

2. Ignore / sj:hT

3. Ignore all / sﬁﬁ? ffd

4. Change / ES|



Correct Answer :-

o Edit/U Sc

11) Which of the following is NOT a feature of MS-PowerPoint? / fadaa Cac k)l @W—ﬁﬂ?ﬁ'@?
BT AT TSI B2

1. Printing the speaker’s notes along with slide images / ¥l S sﬂTtﬁ & 1Y Wiy e fife H1

2. Printing transparencies / fife m

3. Linking a slide transition with a laser pointer / U @l\_SN Wrgel & g1y ENIESS) ?:Iﬁl's{l:f P! o BT
4. Drawing with a pen / U PEE SIS DA

Correct Answer :-

» Linking a slide transition with a laser pointer / Yd» AR WS & 1Y WeS qi TR 1 e BT

12) Which of the following is NOT the Section Break Option? / fgdaa P T AR 5 AT
T2

1. Next Page / e U9

2. Even Page / gd1 bE|

3. Previous Page / Uifaa 0w

4. Odd Page / 3 U

Correct Answer :-

« Previous Page / Mifdaq U

13) What term refers to a specific set of values saved with the workbook? / Cack:| Yog aﬁﬂ? s

T fHd gu aHl & fafkre Je &) efifa wwarg?
1.Range/§ﬁf
2. Trend 1ine/a'_€>'a'|3:f

3. What-if analysis / G8Tc-30 TATIAIRTT
4. Scenario /w

Correct Answer :-

e Scenario /w



14) When you link data maintained in MS-Excel workbook to a MS-Word document, the word

document . / 919 3{TY THUY-UFd 9 gP & ddR SIel ®| THUH-d8 Siagie I
e PAE, aﬁaé:#raqﬁz [

1. contains a copy of the actual data / H aRdfd® STel &1 ufdfaa @?ﬁ %

2. contains a reference to the original source application / H aRdfd® ?ﬁﬁlﬂf’ﬁaﬂﬁ DI Q:i?{?-f ﬁ‘%ﬂ @?ﬂ %
3. must contain a hyperlink / H REEN NG Eﬂ:ﬂ HT%Q

4. cannot be edited / TfST a1 foraT ST Tdhvell %

Correct Answer :-

» contains a reference to the original source application / A grdfae ad thnlav-‘eld Wﬂ'c{ﬂ-f Iﬁl%a Eﬁ?ﬂ%

Topic:- Mechanical Engineering

1)
The amount of taper is 1:20 length of work piece will be D = 80mm d=70mm / €9{HT T 1:20 &,

FES FIoFars FTgei? afe D =80THTH, d=70 THUH|

1. 10mm
2. 100mm
3. 200mm

4, 20mm

Correct Answer :-

e 200mm

2)
£5(22) <0 it implies that /A E(E) <odrsaar AT

1. data is insufficient / STCI i %I
2. cycle is impossible / dsh W‘Hﬁ%l

3. cycle is possible and reversible / Ish YT 3R WﬂH%I



4. cycle is possible and irreversible / Th YHT 3R G‘W'Uﬂ'q Bl

Correct Answer :-

« cycle is possible and irreversible / Th HHT 3R &Wﬂq %I

3) a simple supported beam as shownin the figure is subjected to UDL of W=30 kN/m? calculate failure
stress where L=8m? / U TR OA T &1#, S s Ma# gamiras §, w=30 kNm? # UDL & Hefi=

& | TaTel OeTd &l TG el &, S5l L=8m &7

W
L
=g =
1. 100 kN/m?
2. 10 kN/m?
3. 200 kN/m?
4. 20 kN/m?
Correct Answer :-
e 10 kN/m?
4) For the four bar mechanism shown in figure, the fixed instantaneous centres are NACEE:]
ZeS 95 IR R fFafafe & fore, Fer aretfvis heal & Jwr Bl
C
L\ﬂ‘fﬁ?*"'ET
0 F"'XIJ
Link 4 / Link 2

A6 J
.;)Jfr‘.fffuffj;

A Link 1 B

1. 134 AND 123 / 134 3R 123



2. 112 AND 124 /112 3R 124
3.114 AND 134 / 114 3R 134

4.114 AND 112/ 114 3R 112

Correct Answer :-

« 114 AND 112/ 114 3R 112

5) If mass is entering and leaving an open system then the process is said to be ./ afe sequ=

g Frer A 7awr $Y e ¢ 3R I SIS W dr sw ufpar &t ST
1. non flow process /ﬁ?qﬁlﬁ'm
2. non adiabatic process / R fRRT ufgsar

3. flow process / YdTg Ufchdr
4. adiabatic process / TR fdha

Correct Answer :-

« flow process /mm

6) A pressure measurement instrument is calibrated between 10 bar and 250 bar the scale span of the

instrument is ./WWWWWIOW@ZSOW%W@W%@?&W
faeqfar g

1. 240 bar / 240 dIR

2.270 bar /270 &R

3.250 bar /250 R

4. 260 bar / 260 IR

Correct Answer :-
e 240 bar /240 dR

7) When system is at zero absolute temperature then the entropy of system ./ \_rlﬁﬁl?ﬂ'q'-'l]\:q

g wREm e e sTaRem |
1. decreases / UCdT §

2. cannot be judged / 31T Tg! ST YT &

3. increases / 9@ §

4. becomes zero /Q]EJB-TGI'IT‘IT%



Correct Answer :-

* becomes zero /QE@GW%

8) If the heat is flowing from cooler to hotter body it implies that ./ gfe GHHI, S qTH

T o yarg o2 ¥E1 § @t 39T arud § % |
1. COP=w0
2. COP=0
3. COP<w

4. COP<0

Correct Answer :-

e COP<wo

9) Which among the following is pendulum type governor? /

ifHfrdare (Age ergy Ta) 82

1. Proell governor / AT TS (UITA TR)
2. Porter governor / HTR ffTE® (GIER TER)
3. Watt governor / dT¢ SfHATF® (dic TAR)

4. Hartnell governor / B'I_caﬁ IRENPCa (E'I_caﬁ TI_q&W)

Correct Answer :-

o Watt governor / dIC IR EUPEY (HTE Tf?hT)

10) Which of the following statement is not true about valve? / a'lvﬁ & aﬁ o ﬁ'H - | ﬁ a”ﬁT'T gl v Yd

T T8l 82
1. Exhaust valve is made of two different of materials / IECIGEA dled, a%ﬁ-ﬁf Wﬁ@[ fAfda %I

2. Exhaust valve diameter is bigger than inlet valve diameter / fafde aTed oamy, 3fafa aTeg aamg @ 3ifde
TR

3. Inlet valve diameter is bigger than exhaust valve diameter / 3y dled MY, fafas area g 3 sifde
ESIE]

4. Valves used in 4-stroke diesel engine are called poppet valves / dled St 4—% EISGESEE] Ugad G %
ofdie aTed HEamd o

Correct Answer :-



» Exhaust valve diameter is bigger than inlet valve diameter / fFafde dTed N, vy dled O ¥ 3w
FST8

11) Which of the clutch arrangement is used in synchromesh gearbox? / ﬁlﬁﬁﬁﬂﬁ'ﬂﬁmﬁ?ﬁlﬁﬁ
DI A1 Fod fa=aTT g g1 82

1. Centrifugal clutch / Y4 aerd
2. Single plate clutch / QWU@WW
3. Dog clutch /g\ﬁTW

4, Fluid clutch / d3¥d1 dcId

Correct Answer :-
e Dog clutch / SRESE]

12) Which one of the following is independent suspension system? / mﬁﬁﬁqu
foreie= yomeft 82

1. Panhard rod / aﬂ‘s’lts“ Vv

2. Leaf spring /?ﬂtﬁ FHHMT

3. Trailing link system / 3FIT 3l IV
4. Mumford link / THTS 4l

Correct Answer :-

e Trailing link system / 3T 4l LU

13) Specific heat is defined in terms of ./ faftry S, & g o ufvanfya #t
TSE

1. rate of volume change / 3T URadH &1 &

2. rate of internal energy change / 3TN SHoif ufkad= &1 &
3. rate of heat transfer / 3 SHT RJTHRUT Pl

4. rate of temperature rise / TUHA Q@ PR

Correct Answer :-

« rate of internal energy change / 3faR® Sl gRad &I &

14) Stiffness of spring is given by . /maﬁm a1 Eﬁ\_rl'l?‘ﬂ%l



1. load/stress / “—n?/crﬁlaﬁ

2. load/deflection / “W/ﬁa'qw
3. load/length / 'J-I'I?/?‘I'JEI'I_QF

4, load/diameter / HR/ATH

Correct Answer :-

e load/deflection / W/ﬁ@w

15) Combustion in Diesel enginesis ./ Eﬂ\_rlﬁ EVF-T o Qe % |
1. homogeneous only / Had JHIT

2. none of the above / \su&qd =k qﬁéqﬁ

3. laminar only / $Had Ucad

4. heterogeneous only / PHad e

Correct Answer :-

 heterogeneous only / PHad fauHrf

16) errors occur due to carelessness of operator. / UdTSIh (Gﬁm 4| m & HROT
___ FREE

1. Random / BIGIEEE

2. Observational /ﬁ&‘I'UT

3. Environmental /EI'EI'THTUﬁ
4, Instrumental / JUBIUN

Correct Answer :-
e Observational / 13[&I'UT

17) is the duration of the crank angle after exhaust stroke in which both inlet valve and

exhaust valve are open./mwa?aﬁ, ,%aﬁwa&agm%ﬁﬂﬁmmﬁaﬁ?
T aTea g gad §1

1. Negative overlap angle / BUMTHD SifcreaTud Hior

2. Positive overlap angle / YT SHfeaTUd HIvT

3. Flank angle / 13|T531$ 0T



4, None of the above / SRIFdH I qﬂsr:@

Correct Answer :-

« Positive overlap angle / YATHD Sffaeud S

18) _ thread is used in motor car practice. / HYex BR AR | Q@Wﬁﬁ%l
1. Square /an (WUTCN)

2. Rectangular / ATIdIRRR (:Q_Ol%ﬂfﬁ)

3.v/dt

4. Metric / Al (ﬂ%

Correct Answer :-

« Metric / Hiext (ﬁ%

19) are lubricated by splash system./  3{TpIelA TUITeN & m@ﬁ%l
1. Rocker arms /ﬂ'_caﬁ’l_?f Yol (?:IJW \3‘|'|T«‘:f)

2. Tappet / e

3. Pushrod / EJ,’QIﬁT’S’

4. Timing gears /WW (‘c'réﬁwﬁm)

Correct Answer :-

» Tappet / e

20) is the bottom surface joining the two sides of the thread. / Q‘s’%aﬁﬁlﬁaﬁaﬁsﬁmﬁﬂ
et wag gl

1. Root / ¥=C

2. Addendum / 3SSH
3. Dedendum / SeasH
4, Crest / BT

Correct Answer :-

e Root/¥C



21) is reverse of diametral pitch. / SATE! fUa &1 b H 3
1. Module / TfdR=US (HISTE)

2. Tolerance / Ff%ml?ﬂ (E'\I%ﬁﬂ)
3. Pitch / fUI

4. Clearance/ 3rageff (?ﬁﬂtlw)

Correct Answer :-

« Module / UiREUD (HTSel)

22) If a beam is loaded with uniformly distributed load, then what is the shape of curve drawn in the

bending moment diagram? /!TI%W‘«%, A U & faalRa yr & a1y ?-ﬂﬁ_dﬁ’TIT\_rl'lT‘lT%, a
a1 el 3 (JfET g sTauTH) # WY T8 9% HT TSR T 82

1. Cubic curve / Y1 dsh

2. Straight line /Ww

3. Parabolic curve /W%W
4. Exponential curve / ERCIGIEAED

Correct Answer :-

e Cubic curve /Y deh

23) If a column fails only due to crushing then the column is ./ TI'%WW'HWW%
SR {3 g1 SITaT 8 o W gl

1. not determined / fyiig
2. short column / &Y &Y
3. medium column / ASIH IdH

4. long column / Rt

Correct Answer :-

e short column / a‘gﬁ?’m

24) In liquid level systems the unit of capacitance of a tank are L/ QI ER W’I’Iﬁﬁ@ Gk
T 3 3BTS 2l
3

1.m



25) International system of units (SI) was established in the year ./ E’Qﬂé‘ﬁﬂ”ﬁ ara?fgh L)
(SI) a9 # w1 #1718 ot

1. 1978
2. 1980
3. 1975

4. 1983

Correct Answer :-

26) If barometer reads 70mm of Hg then what is the value of pressure in SI units ./ ‘T%

AYSITHTYY & UTSAT Hg BT 70mm §, A SISPIS A SEHIAF gl
1. 9.3 N/m?

2. 101.3 N/m?

3. 100 N/m?

4. 760 N/m?

Correct Answer :-

27) What is the temperature of mild steel in forging? / HEEE:] Hg HUTd PT dTUHTT HT ﬁ?ﬂ %?
1. 980°C

2. 1300°C

3. 1250°C

4. 1150°C



Correct Answer :-

« 1300°C

28) What is the SI unit of magnetic flux? / JFIHIY FUTTE B SI SHTS T 3?
1. Weber / JR

2. Tesla / el

3. Lumen / (_'Clﬁ'ﬁ:[
4. Henry YRt

Correct Answer :-

e Weber / IR

29) What is the method of making a mould among these? / TiaT fAmfur #} faft Fafaf@a A d w19
32

1. Pit moulding / TTd T4 (Iﬁ'c’ Wf)
2. Dry sand moulding / Y[&h ST T @Tga@ Al

3. Loam moulding / gHC GER (?‘h'q Im%"l)
4. Skin dried moulding / Y[ @1 o (b e S HIfeaT)

Correct Answer :-

» Pit moulding / TTd I (Iﬁ'c’ ﬁl%TD

30) Brake binding can occur when ./ 8P Y9 a9 Eﬁ Hbhdl % EEIGg 1

1. the brakes are not used excessively only / Rt S &1 STeT IR 81 foram e 8

2. All of the above / STRIad gt

3. parking brake is unreleased only / Ry w1 9 SRENEY Bl

4. poor contact is achieved between brake lining and the drum / NP TR 3R SH & o9 RIS U B I

Correct Answer :-

 parking brake is unreleased only / R4 Ui 9 SRENE 8l

31) Squeezing machine is used for ./ Fredtes w=fi= %?ﬁmugaa gl gl



1. cutting / FA (EF@TD

2. drilling / 9aH (fSfeim)

3. reaming / IEECER] (ﬁﬁl’ﬂ)
4. moulding / BER ('m'fcl'&'ﬂ'l)

Correct Answer :-

» moulding / BER ('m'fcl‘\‘;"'l)

32) A hall’s effect pick-up can be used for measuring ) Wﬁﬁﬁﬂﬂlﬂa fUspam Cal
AT & g U i st awar 3|

1. magnetic flux / W 3{fYaTg
2. pressure / qld

3. current / YRT
4. relative humidity / S{TOfEr S

Correct Answer :-

e current / YIRT

33) For a solid shaft subjected to torque T, the shear stress developed is proportional to ./

FATYUl T F AN TP 3 AT & foe Al sroeuurafosa . & squifas &1
1. radius R / I R

2. angle of twist / SGI¥d BIUT

3. length of shaft / YT B daTs

4. modulus of rigidity / T¢dl HTU®

Correct Answer :-
e radius R/ I R

34) For a given sleeve lift in governor, the sensitivity ./ Siffra® (Tlﬂ.T'R') ﬁﬁ'l'{ e d1g
S (g fodey s forg, ganfgar

1. decreases as speed decreases / el % SERNIGRKG] %I
2. increases as speed decreases / EIE_Cﬁ % SERIGAG] %I
3. increases as speed increases / aa‘cﬁ % SCEIG EIET‘ﬁ % |



4, remains unaffected / uHTfad ?6(‘1 %I

Correct Answer :-

* increases as speed decreases / aa‘cﬂ % SI9 TIfd gedl %I

35) For measuring _ , only the circularity of contour is determined. / FUTH S

forQ, Faet 3T Y afepar Frufid Bt et 81
1. flatness / HH I

2. roundness / TS

3. straight / 1Y

4. square / A1

Correct Answer :-

e roundness /7 (_"Hé

36) Types of brakes used for controlling speed of vehicle for downhill travel is ./ m'\ﬁ

STAP T AU AT R TR P FRa I TOR SIS T El
1. Mechanical / FifAd

2. Axial / 31&fa

3. Hydraulic / Saaferd

4. Radial / Xf&Td

Correct Answer :-

« Hydraulic / SadTierd

37) Take out the function which is not a requirement of clutch. / wam‘mmaﬁ, E’[Wﬂ"ﬁ@
ATaRIH T Tl 81

1. Gradual engagement / S JHTHTT
2. Maximum Inertia / 3fIHTH TS
3. Smallest possible size / TUTH HHT 3THR

4. Good heat dissipation / 3TH ST faTRTT

Correct Answer :-

« Maximum Inertia / 3fYHTH TS@



38) A put fit is fit. / T AR SUgadr (e fbe) Uy (e 81

1. an interference / HfdHRU] (éd(ch?l“{-l)
2. a differential / faves (%'EFQITIT’D

3. an allowance / S@ETI(QEIIG.QFI)
4. a transition / GHHUT (EAHGQH)

Correct Answer :-

e atransition / JhHU (Eh.llaglq)

39) Thermocouples are generally used for accurate temperature measurement upto °C./

IR AUHE AU $ R yHiPTeT AR R cc AP Uged g g
1. 1800
2. 1700
3. 1400

4. 1300

Correct Answer :-

40) In case of critical damping the damping factor ratio is . | Pifa® SaveH ot fRAfa
e PRS U gl

1. equal to one /W%W
2. equal to zero / [ & TR
3. less than one / U I &Y

4, greater than one / U T 3HfPp

Correct Answer :-

e equal to one /W%W

41) The portion of body which is reduced in diameter below the cutting edge pilot is known as

./ P orae R, st sda R Tae Mo s sadars,
FEAI G|
1. Shank/%



2. Recess /1’@?
3. Boring / IR

4. Pilot / YT

Correct Answer :-

e Recess /m

42) The melting furnace used for ferrous metal is known as i ?ﬁ? W%WWW
gt & =9 T ST St 21

1. hot stamping furnace / ST Hgich '1-@
2. electrolytic furnace / fAgad SUec-l Hg

3. cupola furnace / FIUIAT Hel

4, heat treatment furnace / HSH 3UTR 3—@

Correct Answer :-

« cupola furnace / W 'l-@of

43) The instrument used for comparing the dimensions of a component with a standard length is called

. / 98 SUDUL, S T & A &A1Y TP Ueh & SATATHI &1 a1 & foe ygaa giar e
ST gl
1. Scale/mq:ﬁ(ﬁrc‘l)
2. Vernier calliper / iR HeraR

3. Comparator / _g'?lﬁﬁ @Tﬁm
4. Micrometer / ﬁ&ﬂtchﬁ (Iﬂéﬁ?iﬂ??)

Correct Answer :-

o Comparator / (:NP‘I?I (ODJ-L\-I\{CQ)

44) The load per instantaneous cross sectional area is called ./ UR ufa arefore SIUR
PICHA______ Hgardgl

1. true stress /W ufded
2. shear stress / U] Yfaad
3. normal stress / JHII ufded

4. nominal stress / IHHIA gfded



Correct Answer :-

e true stress / g Ufdead

45) The defect in casting due to in-corrective assembly of moulds and cores is ./ 3R

PIS P Ted JAISH & HRUTIIT o CL RG]
1. blow holes /aﬁ%_&r
2. ﬁns/ﬁb_'\q

3. swell / Tocd-T
4. drop / 9g

Correct Answer :-

. ﬁns/ﬁ’T\‘:[

46) The departure from the straight line relationship is / ieht YT wey | fameq B
1. linearity / Recivnil
2. stiction / feaeH

3. drift / UgfT
4, non linearity / R g

Correct Answer :-

« non linearity / TR

47) The type of mechanism used for slotting machine is known as WECIEIE: Rk '[%I'Q
T B aTd gifiddd &1 UPR CaIGIE

1. Gnome engine / CiE| SO

2. Bull engine / §& $oi7

3. Beam engine / aﬂﬂsﬁﬁ

4. Crank and Slotted lever / e 3R WAGR ITAD

Correct Answer :-

e Crank and Slotted lever / b 3R @iaa I IAAD

48)



The resistance force acting on a body causing increase in length of body is known as ./ for

3 g8 A g, Ao R srlka ufoRid 90 & sRUrgd 81 98 e gl
1. tensile stress / T Ufdad

2. compressive stress / GUIS Ufdad

3. bearing stress / fage 01 Ufdad

4. volumetric stress / 3T Ffcieiel

Correct Answer :-

« tensile stress / d-- IGEN]

49) The process of removing lubricants and binders from metal powder added during blending is called

. / |01 ( ATEM) & IR SIS Y org ol A Ne! SR o] (e gforbed ik
T P eI ufpar | weadi gl

1. Fusing / Tadt (q'*':ﬂ%lTD

2. Compacting / Tg WT)

3. Sintering / Rjexur @Eﬁ_ﬂ)

4. Presintering /E[G;W (WRiefm)

Correct Answer :-

o Presintering /E[\G;W (WRiefm)

50) The amount of heat transfer to convert unit mass of solid to vapour is called LA

P fore 319 & SPTE gouH= P uRafdd B & g I S T 1 71 Bt
PEISETg|

1. latent heat of sublimation / SedUTa Bl It SHTHT

2. latent heat of fusion / GTTHYOT B It SHBHT
3. latent heat of freezing / IREERUK ] o ST
4. latent heat of vaporisation / ATIHRUT & [0 HEAT

Correct Answer :-

« latent heat of sublimation / SedUTa Bl It SHTHT

51) The radian is the plane angle between two radii of a circle that cut off on the circle an arc equal in

length to the radius is known as . /W,Wﬁ%ﬁﬁﬂ%ﬁﬂ%ﬁﬂﬁ%ﬁﬁﬁw
PP RR B GOES AU PRI MR Hedadr gl



1. kelvin /39—%:[
2. mole /ﬁlﬁ

3. joule / 9[dl
4, radian /i'%’q:f

Correct Answer :-

e radian /Q‘%’CIT-[

52) The angle between cleared flank of the tooth back of relived surface and cutter face is called

./ G g 3R B BAP P ¢ 8B & WT TS & 9 BT HI0T FHgard
g
1. Peripheral relief angle / ufRelg I=rad S
2. Peripheral clearance angle / gfveftg sreeff swror
3. Face clearance angle / th ¢l 3R HYoT

4. Face relief angle / b cidh 3G HIUT

Correct Answer :-

» Face clearance angle / thcidh SRR HYoT

53) The body which is capable of transmitting forces with negligible deformation is known as

./ 9% Frera St {6 0 faRU0T & |1Y Tl BT HaR0T HIA B 4T IEAT B,
FeaEar gl

1. resistant body / UfeRIY® Fg

2. flexible body / T fAw™

3. reductant body / UAID FH™

4. rigid body / T¢ R

Correct Answer :-

* resistant body /U RIYy® e

54) The maximum probability has a large value for small values of i %Eﬁ%&?ﬂ%

R i aw yrafddr 1 e ST 3 |
1. high Precision / 3o URIGdl

2. high accuracy / 3= gyTfar




3. precision index / URYGdT GBI
4, low accuracy / g gurfar

Correct Answer :-

e precision index / qﬁ_ﬂ@ﬂ'{ BSCEIcd

55) The degree of freedom of a simple pendulum is ./ U TR dia® ot waadr a1 f&ih
Gl

1.6

2.4

3.2

4.1

Correct Answer :-

e 2

56) The rule for gear ratio of differential indexing is given by ./ 3lddd IBECEE AU STUTd
& forg forgm gRT e wmaT 31

1. (N-A)*60/N

2. (N-A)*40/NA

3. (A-N)Z*40/N

4. (A-N)*40/A
Correct Answer :-

« (A-N)*40/A

57)' The device not used for measuring pressure is ./d% g%r il E'W'FITCﬁ a?ﬁﬂ'{ Ugad
TE BIdl 3, 2l

1. Piezoelectric crystal / GTd fagad foreee
2. Pyrometer/ IAOHd

3. LVDT/Q@E‘ Sicl

4. Strain gauge / SEICKI]

Correct Answer :-



» Pyrometer/ IAOHT

58) The kutzbach criterion for mobility of mechanism having plain motion is given by WAL

TIfa aret A1 @t Tfasiaar & e soee ads SR femrSmar g1
1. N=3(1-1)-2j-h

2. N=3(I-1)-3j-h

3. N=2(I-1)-2j-h

4. N=2(1-1)-3j-h

Correct Answer :-

e N=3(-1)-2j-h

59) The thermoelectric effect was first observed by ./ dmg ﬁg‘qaum, JauyyHq GIRT
Ofgra forar T 1|

1. Seebeck / e
2. Pirani / PG
3. Thermas / yAfg

4. Thomas young / YT T

Correct Answer :-

e Seebeck / RIEEg

60) The beam is loaded with same load rate per unit length. Identify the distribution? / ‘qﬂw, ufd ng'

|ETE TR FHH R & 91y HIRd g | faa=or &t uga= +¥?
1. Point load / fdig HR

2. UVL / gditd
3. UDL / ggiud

4. End load/ﬁRT HR

Correct Answer :-

. UDL/ZgItd



1. gauge factor only / &Had TSl HRD

2. resistance temperature co-efficient only / dad UfaRIY dad™= BIIGE
3. resistance only/ Had UfeRIY

4, all the above /mﬂﬂ-ﬁ

Correct Answer :-

* resistance temperature co-efficient only / Had UfeRIY drgd= 1:[UTW

62) Slip gauges were invented by . /W&Wﬂﬁaﬂ IR & gRT far mar T
1. C E Johansson / . é \_rn_ﬁfl_"m_rf

2. Alexander / \}m

3.CV Raman/?ﬁ. CIRCE

4. Symons / HIgH

Correct Answer :-

« C E Johansson /3T é \_rﬁm:[

63) Anti-skid subsystems are applied to ./ frge A ST (Q_(.& f&rs m
__ SIyge el

1. hand brakes / ETU%

2. front brakes / 37 Sl

3. parking brakes / PIICRIEED
4. rear brakes / U¥Y EED

Correct Answer :-
e front brakes / Y W

64) In a refrigeration cycle, if vapour is not super heated after compression then it is called

/ v 7 W, afe arer HiteT & e el A SR e At us e
1. sub cooling / 37 e

2. dry compression / [ U=

3. vapour compression / 918 U8

4. wet compression / 318, JUTS



Correct Answer :-

e wet compression / \’fﬂ?(c Tdieq

65) In a four degree freedom system the number of eigen values is AR &t Tad=a yomrent
¥, arfraerfore A Bt wem 2l

1.0
2.3
3.4

4.2

Correct Answer :-

66) Commonly used method of manufacturing metal powder is by ./ mqﬁmaﬁm
U uged fafk FRIEIA &

1. Atomisation / QEIIIQ@IQI:I
2. Jolting / ST

3. Shotting / "II%IW:[

4. Reduction / Udd-q

Correct Answer :-

e Jolting / ST

67) If heat engine receives Q; kJ/min of heat and does W kJ/s of work then thermal efficiency of engine
is given by ./TI'%WQTSHQIkJ/minﬁmWW%GﬁTWkJ/smmma
a9 O B1 dATdHT g RT3 oTelt 8

W
1. =2x100

Q
2. 1=%x100

e0W

3.1= 2 x100
W
4. n="""%100

Correct Answer :-



68) Viscosity is considered as property in model analysis. /uﬁﬂ?q faeiyor ﬁ, LUIE G
T & &9 | L St 81

1. geometric / SIIEIRE

2. dimensionless / ﬁﬂ'@:{
3. dynamic / IR

4. kinematic / eI IGEZ

Correct Answer :-

. dynamic/‘ll?‘l'-‘?“a

69) The degree of agreement within a group measurement is called ./ WW% Gl?l'l'hﬂ?ﬂﬁ
31 fSh ot FETAEIg|

1. drift / 99T (($Ue)

2. accuracy / T

3. precision / CII?Q &dl

4. degrees measurement / fSU} AU

Correct Answer :-

e precision / CIIQQ KAl
70) Which statement about notch and weir is true? / @i 3R g1y & faug & P19 AT HYT I %?
1. Weir for high velocity and notch for low flow. /Wﬂﬁéﬂ%ﬁﬂ ﬁ?WWW%W@ﬁT%I

2. Weir for small discharge and notch for large discharge. /Wﬂ?ﬁ%@gﬁ%%ﬂ ﬁ?@ﬁa%w*ﬁﬂ
BT gl

3. Weir for small velocity and notch for high veIocity/aT‘&[@%a"Ta'?ﬁ‘l'Q ﬁ?@ﬁﬁaﬂ%ﬁmm%l

4. Weir for large discharge and notch for small discharge. /GT‘HE%W%%I’Q @TW@%W%%’Q
T gl

Correct Answer :-

e Weir for large discharge and notch for small discharge. /aTaa%’aaa?ﬁﬁm @TW@%W%W
BT gl



71) The difference between the true value and measured value of a quantity is called . /qﬁT%

T AA R AT AAF S Fsiar | FHgaarsl
1. change over / uRkafdd BT

2. correction / YU

3. static correction / Rfas JUR

4. dynamic correction / TTfieh JUR

Correct Answer :-

e static correction / Rfds JUR

72) The process of adding sufficient moisture to the moulding sand is known as . /'\‘iilqa'lﬁﬁ

Wi geR A uFa s FEUAIHEISAER|
1. sand conditioning / STe IR (FS HeI=T)

2. sand moisturizing / STEL TH HRAT (S ATTLTRIZIS)

3. sand tempering / STELATE (&S 2T

4. sand mixing / STe] fiyeor (S fafqgm)

Correct Answer :-

« sand tempering / dI¢] U (ﬁ?{ %&Iﬁ'ﬁ)

73) Submarines works on which of the following principle? / tFlg'%TIT fafafead a o figiaw
B Bl §2

1. Bernoulli’s law / SFITcl &1 9|

2. Pascal’s law / Ol BT 99

3. Darcy’s law / ST &1 fay

4. Archimedes law / 3Tfh TSI &1 FaH

Correct Answer :-

o Archimedes law / B{I%&I?ﬁﬁf CARCREE

74) Bernouli’s equation is considered as . / Sitelt T gHIBRor R KGR IGI

gl
1. continuity equation / AR AT HIBRO



2. momentum equation /WW
3. energy equation / Soll FHIBT
4. force equation /Wﬂm

Correct Answer :-

* energy equation / ol gHIHT

75) The result of quantitative comparison between a predetermined standard and an unknown magnitude

is called ./ Gafrertfea A iR srqma ufvamor & St Arers g &1 afvoma
Sl gl

1. magnitude / gRAToT
2. standards / HH
3. metrology / et

4. measurement / HIUA

Correct Answer :-
e measurement / HIU

76) Structure constructed across the dam in order to avoid damage or overflow is called ./ &‘Iﬁ'l

g efavae AT & g, iyt eiR g T weami 3l
1. reservoirs / STAITRIT

2. gate / GR

3. spillways / 3ife@a AW

4. surge tanks / FGITH ¢l

Correct Answer :-

 spillways / 3ffAera At

77) If the velocity of flow does not change with respect to space co-ordinates, then the flow is termed as

./ afe v Frgiet & wed & varg o1 3 uRafda 78 gar €, @ ware ¥
9 & gy g 21

1. rotational ﬂow/qUﬁEla'l_E'
2. compressible flow / Tutsy Udlg
3. uniform flow / ThJHTH Ydlg



4. steady flow / I Udlg

Correct Answer :-

e uniform flow / UHHHIH Udlg

78) Pressure cap on the radiator in the cooling system. / fafeve w e e,
e e | AT

1. decrease air pressure / A1 GId H HH!
2. none of the above /mﬁ@[?ﬁ_gﬁ
3. increase air pressure / 91 GId A Q@

4. maintain constant pressure / R 9 S

Correct Answer :-

« increase air pressure / dIg G gfs

79) Parallel lines are drawn using command. /Wﬁmm HHIS BT
SUIRT HXb AR B AT g |

1. Trim
2. Extrude
3. Offset

4, Extend

Correct Answer :-

o Offset

80) The transmission that uses Dual Clutch technology is called as ./ 9 HEROT S dlﬁﬂ

Fo eIt &1 ORI $d ©, FeAd gl
1. Dual clutch gearbox/ G\IG\Q Fad TR Eay

2. Manual transmission (MT) / BSEINGEREIRUI (Q'J:I_Cﬂ)

3. Automatic transmission (AT) / gTferd YaRUT (Qélf)

4. Automated manual transmission (AMT) / TTferd G%dﬂli?dd YR (QQIIél)

Correct Answer :-

e Automated manual transmission (AMT) / TTferd 6%&1?4@1(1 D EIRY (QQIIE")



81) The highest standard of either a base unit or derived unit is called a standard /

TS ASPR AT AUA PR PISHAAIAND __ Hegamargl
1. secondary / fgdia®

2. primary / UT4HS

3. working / BRI

4. measuring / HIUA

Correct Answer :-

. primary/mm

82) The hand brakes in automobiles are built by ./ EaTierd a1gd H §14 98P
FRT T &1d 5

1. disc brake /%WW

2. both external contracting type brake and internal expanding type brake / Ml EIHES| DI YD 3% 3R

3{idRe faEdR YR sieb
3. internal expanding type brake only / ad 3HiaRe® oIk UeR b

4. external contracting type brake only / dad STl 9 EERRIEDR ECg

Correct Answer :-

« external contracting type brake only / dad 9T 9 EERRIEDR ECg

83) The purpose of beam engine is to convert ./ A ST BT G%W

_ uRaffasrgarzi

1. rotary motion into oscillatory motion / E;Uﬁ"lﬁ CARANBRIIGE:]

2. rotary motion to reciprocating motion / ‘EI;Uﬁ‘Tﬁf CIR R IEEIRIIGE:]
3. reciprocating to rotary motion / TITTHAT & H;Uﬁ]'ﬂ%f )

4. reciprocating to oscillatory motion / YANTH &1 Gler i &

Correct Answer :-

 rotary motion to reciprocating motion / ‘Q:Uﬁ'rlﬁf DI TR T o



The size of air cored transducers in comparison to their iron cored counter parts is i

1Y P ST THSTHR BT ATPR, ST ¢ie IS d TIPS YN B gar-T o g
1. same / HHIH
2. bigger / dSI

3. unpredictable / &Wﬁ
4, smaller / BleT

Correct Answer :-

» bigger /§8I

85) The operation of finishing and sizing a drilled hole is called ./ b yafra fog &1

TSIV R UNSHRUI BTy HeaEi ol
1. Forging / STET (WIfSHT)

2. Reaming / fesgas ()

3. Boring / 98 (ST)

4. Forming / 3T 1al &A1 (BIHM)

Correct Answer :-

e Reaming / fSgadq (F\"&I"T)

86) The longitudinal distance between the centre lines of front and rear axle is referred as

; ./ 37 3R Iy Y& Dt s I@rei & ag g g3t Br ¥ faféy fean
EIciE

1. Caster length / PR TS
2. Camber distance / debdl ﬁ
3. Wheel base / dsh JHIUR

4, Wheel track / deh UY

Correct Answer :-

e Wheel base / deh HTYR

87) TCS is an acronym of ./ R &1 dfera 7'|TFI'%I
1. Torque converter system / b Hac Req



2. Traction control system / ?\?R’Ff ?b_gﬁﬁ Rreey
3. Traction cruise control / EEIQ'I_"I Wfb_g;la
4. Tractor control system / ?FET ﬁﬁﬁl@

Correct Answer :-

 Traction control system / E_GF‘?I:T @a Rreeq

88) CAD/CAM is the relationship between ./ CAD/CAM, & dig gay

g

1. Development and Maintenance / fahT 3R TR
2. Manufacturing and Marketing / fafamor 3R fauum
3. Design and Marketing / 30T 3R fague

4. Design and Manufacturing / 0T+ 3R fafafor

Correct Answer :-

+ Design and Manufacturing / Ui+ 3R fafmfor

89) CAN in Wiring harness of an automobile refer to ./ T TIATfrd 918+ & aRl
& JUFER F CAN, I Hefa sxar g

1. Controller Area Network / & (}?IQ'R TRAT e

2. Computed Alert Network / d‘)*—lij\ES 3T Aead

Y (o

3. Computerized Articulated Network/ YIS 3] CTG&L@I ¢E Acdd

4. Computerized Area Network / STICRISIS URAT AeddD

Correct Answer :-

 Controller Area Network / @Fﬁ uRAT e

90) Diesel can be injected upto a pressure of bar in CRDI engine. / %ﬁ&m:cﬁ&n'«:,‘ ESE
#, IR & g9 a9 Stad Sidafia fosar s aear g

1. 10

2. 1000

3.200

4. 3000



Correct Answer :-

« 3000

91) DPF is the acronym of . /m, Gl H’f&l’ﬁ ATH %I
1. Direct Purification Filter / STIRTE m flhec?

2. Differential Proportional function / fSth R yuie—e e

3. Diesel Particulate Filter / Solel tlﬁ&ﬂﬁ? e

4. Diesel Purification Facility / SI9Tdl GRIh b= HAfere!

Correct Answer :-

« Diesel Particulate Filter / SISl Uﬁaqﬁ'c’ flheex

92) Engine cooling becomes easy when it is placed at the ./ 3o e e 33f
SITdT @ o9 59 H @1 ST gl
1. front / Y

2. left corner in the rear / UY framaﬁﬁ
3.rear / OY

4, centre / HY

Correct Answer :-
e front /Y

93) Measurement provides us with means of describing a natural phenomena in
terms / Y § 919 U WP Aigid it aiofd H3- & e g8 e ue Hdan
gl

1. digital / 31T

2. transducer / SRISTIR
3. system /EI'UI'IFﬂ

4. quantitative / HIATHD

Correct Answer :-

e quantitative / HIFATHD



94) If velocity of a particle is 4m/s and force due to gravity is 5N, find the kinetic energy of the
particle (take g=10m/s2) ? / Tf¢ TP BT BT AT 4m/s B 3R TR=cd P BRI 9 5N B, A HUI
P TfAST Soif T BV (e=10m/s? o)?

1. 2]
2. 10J
3.8)

4. 4)

Correct Answer :-

e 2]

95) If gear B moves around gear A about a fixed arm then the motion is called i tlﬁ
iR ft, R T & 9y ok vep fAfda Yo w wifd #var 8 at s fa &t G|
EIGIE

1. Rotatory motion / U;Uﬁ"'ﬂ%f

2. Epicyclic motion / IBEEALRIG

3. Simple pendulum motion / HXcl NISCIIG]
4, Parabolic motion / RAARID Tid

Correct Answer :-

» Epicyclic motion / 3fferereptg Tifd

96) 1f young modulus=3x105N/mm2poissi0n’s ratio =1/4then bulk modulus is . TI'%
T AP =3x105N/mm? § IS 3T =1/4 3 O Sob HUTH g
1. 0.1 N/mm?

2. 100 kN/mm?

3. 4/3 kN/mm?

4. 3/4 KN/mm?
Correct Answer :-

e« 100 kN/mm2



97) If area of actual indicator diagram is 20cm? and base width of indicator diagram is 10cm

and spring value is 5N/m?/cm then mean effective pressure will be J TI'% CIESICED
AP ARG BT &P, 20 cm? 8 3R FIP 3R B MUR NSTE 10em 3 AR AT A
5N/m¥cm g O WIH U @ il

1. 30 N/m?
2. 20 N/m?
3. 10 N/m?

4. 50 N/m?

Correct Answer :-

e 10 N/m?

98) A cylindrical workpiece of diameter 20mm and rotating at 300 rpm will have a cutting

speed of ./300rpmwwhaﬁ?20mmmm$wéwm€ﬁaﬁhrrﬁr
@fenete) g

1. 6t m/min
2. 47 m/min
3. 8t m/min

4, 10t m/min

Correct Answer :-

e 61 m/min

99) Find the loss of head per unit length of pipe with diameter 100mm and velocity 100m/s; and

Chezy’s constant, C=50. / il & fRRT® =50 3T 100 e AHUS & AT 3R 100 fArefirfier
& T DI AfTPT DI Uld SHIS AvaTg Y Dt g F1d B

1. 16
2.10
3. 0-16

4. 160

Correct Answer :-

e 160



100) For a load of 3000N if the stress is 100N/m? the diameter of rod will be ./3000

N & YR & forg, afe ufdad 100N/m? & 9 B8 &1 ™ B mI
Vi)

1. 120°m




